Graphing Tangent and Cotangent

y = atan|k(x — b)]
k>0

Period p =
Phase Shift b
T T
Interval of One Cycle —(b ~ b + 5)

=19

. T _ l
Vertical Asymptotes x = b — s andx =b + "

y = acot|k(x — b)]
k>0

Period p = %
Phase Shift b
T
Interval of One Cycle —(b, b + 5)

Vertical Asymptotes x = b andx = b + %

Determine the period, phase shift, and interval of one cycle, vertical asymptotes

1. y = cot(2x)
2. y = cot(4x)
3. y = tan(3x)
4. y = tan(5x)

5.y = —cot (%x)

6. y = —cot Gx)



7. y = —tan (

x)
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8. y=—tan (%x)

9. y =tan (Zx —g)
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y = tan (3x + Z)
y = cot(4x + m)

y = cot (6x — )
y=—stan[3 (x|
y=-stan[a(x+ )
y=teorlte )

y=3eorlt o)

|
|

y=—tanf3(x-5)
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y = —tan[%(x+%



